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14 21
SIMPLEST FORM — — — — — —
. 8 18 15 24 21 27
WHICH IS BIGGER? Zor Zors Zorz Zors Sor2 Zor
4 1 3 2 4 3 8 4 5 3 8 3
3 7 9 15 15 24
-) MIXED #S — - ~ — — —
2 4 4 12 9 10
1 3 1 3 2 6
‘humber” is Zo a “humber” is Z of a “humber is 3o a ““humber” is Z of a “humber” is — of a ““humber” is
WHAT IS THE NUMBER? Ao 3T e 3T e fomm
12. 12. 15. 15. 6. 14.
1 3 2 2 5 3
—of — of — — — —
FRACTION OF ... ~of 8 S of 12 - X9 42 X 5 c X 42 56 X o
3 1 4 2 2 3 4 1 2 1 2 1
+AND - Sy ——= iy ——= p— R
AND - (1) 5+5 7 7 5+10 9 3 5 3 3+10
3 2 1 3 3 7 2 2 2 4 3 3
+AND - (2 1-—< 2——— 3=+— 4——2= 6=+ = 4=—2=
(2) 5 5 4 4 5 10 9 3 9 § 7 5
1 1 1 1 1 2 1 3 2
y 4 X2 X = - X = - X = =X = = X =
MULTIPLYING (1) 4 5 5 X 5 755 3 X 5 = X5
MULTIPLYING (2) 10><3 3 > 12 > 51><31 23><32 13><31
3 5 15 9 3 6 4 5 4 3 4 9
1 2 3 1 1 1 1 1
8 +2 + = + = -+ = -+ — -+ =
DivipiNG (1) 8 > 6 3 272 ) 273
3 1 1 3 1 4 3 1 3 2 1
IVIDING (2 2— + — 3= = 4— 3— = 2— 2— = 1— (4——2—) ~ 2—
D NG (D) 4 4 3 4 2 5 8 18 5 3 3
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